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%0 34 6H30H B

PN=]

E R [FHEE 250 263 513 245
R LLIET 157 173 330 167
gE5E1TH 117 137 254 146
E5E2TH 173 196 369 177
g5H3TH 189 160 349 218
E5E4TH 301 300 601 279
#tET2 T B 93 96 189 113
=T RHE 168 209 377 233
21+ RE1TH 72 85 157 77
21T REI2TH 155 127 282 220
ARET1TH 158 165 323 191
ABERI2TH 33 38 71 39
$2RT1 T H 117 157 274 160
f2ET2 T H 295 327 622 350
$2HT3T H 467 507 974 523
g B BT 40 42 82 54
BH/HE1TH 172 219 391 193

K 2957 [ 3,201 6,158 | 3,385

Bl 2 [EXE1TH 40 64 104 56
EXR2TH 98 132 230 127
EXHEISTH 273 278 551 265
EXHW4TH 276 307 583 266
KADHET 572 650 1,222 492
REF0MT 243 289 532 253
B EE 88 85 173 99
H $FHT 42 49 91 62
SRS SFET 59 78 137 77
HHEHT 81 107 188 124
H h T 51 50 101 56
BHT 318 396 714 369
ARAE BT 0 0 0 0
v EH BT 270 311 581 265
HRT1TH 79 103 182 106

BT 2490 2899] 5389] 2,617
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b X e = o
3 = 5

# o |[MxEI1TH 120 171 291 180
IEET2T B 22 38 60 33
ZRHT 34 44 78 41
15 BT 42 68 110 56
RILHT 51 58 109 64
KT HT 48 54 102 65
k=) 43 36 79 44
TREET1TH 44 52 96 54
TRERT2TH 394 402 796 415
EY=L) 538 528 1,066 486
REHET 352 406 758 343
H AEHET 457 503 960 500
FESH 71 76 147 98
F HT 80 100 180 104
B R HT 43 35 78 53
=1 31 25 56 36
AKHET 47 79 126 86
$2BET1 T B 186 208 394 158
iRBET2TH 221 258 479 225
FRERT3T H 120 139 259 107
.18 2944 3280 6,224] 3,148
B/ 5 |AEE3]H 118 125 243 131
AHERT4 T H 126 151 277 170
ESHT 79 104 183 118
EEH 56 69 125 70
SFHT 50 53 103 51
X#HET1TH 50 37 87 56
X#HT2TH 32 25 57 44
A ET 155 139 294 181
ET1TH 42 65 107 60
S E2TH 44 55 99 70
ERNE 84 90 174 97
S ETATH 69 83 152 75
HET1TH 60 69 129 78
HHET2TH 160 195 355 201
HET3TH 150 145 295 170
1= ET 159 168 327 165
FaAT 97 106 203 107
=) 52 57 109 51
E=HHET 147 162 309 146
=AW1TH 202 234 436 214
=AR#2TH 287 308 595 208
=AR#3TH 230 307 537 254
=AR#4TH 189 203 392 191
& 2638 2950] 5588] 2998




AR

T T |[EyiE 5 4 9 9
Ey51TH 536 589 1,125 550
ErE2TH 391 406 797 405
E~B3TH 343 377 720 347
ErIE4TH 490 495 985 446
E~IB5TH 251 309 560 248
ErIE6TH 411 467 878 476
Ey57TH 343 377 720 401
B~ I8 TH 229 286 515 237
B~ 59T H 491 550 1,041 461
F#%1TH 156 175 331 152
+#&#%2TH 233 292 525 253
+F#%#%3TH 193 282 475 289
+F##%4TH 284 328 612 245
+F#%#%5TH 242 303 545 275
+F#%#%6TH 384 399 783 328
+F#%#%7TH 136 165 301 144
+#%#%8TH 69 82 151 83
E=RE 886 904 | 1,790 831

BT 6,073 6,790 12,863] 6,180

¥ E (EE1TH 95 98 193 89
HE2TH 272 320 592 263
HE3TH 267 259 526 215
HEA4TH 247 278 525 235
HESTH 214 267 481 211
HE6TH 128 143 271 122
HE7TH 89 72 161 67
BEF 79 94 173 71
FE1TH 257 311 568 270
FE2TH 307 365 672 305

SFHE1TH 349 368 717 256
BHESHM2TH 249 273 522 194
BHEFHEISTH 313 339 652 246
BHESHM4A4TH 211 201 412 186

SFHEISTH 201 201 402 162
HEMI1TH 169 229 398 189
EEF2TH 36 28 64 27

BT 3483 3846 7,329] 3,108
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m xE [m=H 4582 4,785 9,367 4,455
Al % 2,185 | 2,381 4566 | 2,041
.18 6,767 | 7,166 ] 13933] 6,496

8 &£ |[L@&k 643 735 | 1,378 530
+#EE1TH 79 109 188 88
L#EHE2TH 344 399 743 351
+$#EE3TH 485 557 1,042 515
48R4 TH 115 119 234 119
+#EE5TH 256 297 553 272
+{E/R6TH 282 324 606 306
+#ER7TH 272 299 571 276
E41TH 83 91 174 75
E42TH 15 35 50 42
E43TH 392 410 802 364
EEATH 158 182 340 158
E4E5TH 597 722 1,319 646
EE6TH 173 195 368 175
BEEHFEHITH 137 174 311 186
BEXFHEH2TH 382 392 774 407
E4XFHA3TH 439 435 874 401
BEEER1TH 318 361 679 365
BEHEER2TH 383 429 812 405
BE4EERR3TH 81 73 154 101
BHEERATH 267 282 549 373
= 5,901 6,620 | 12,521 6,155
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ih X BT 44 = =
3 x 5

& X [EfRlR1TH 155 187 342 179
BHiEEHE2TH 168 198 366 203
HERE3TH 169 214 383 191
BHiERE4TH 320 358 678 311
HERE5TH 292 316 608 276
H{EERE6TH 364 400 764 331
HER7TH 456 529 985 446
H{EHESTH 494 529 1,023 490
FatEER 26 25 51 31
FEtERE1TH 103 111 214 94
FEER2TH 122 155 277 143
FafER3TH 297 316 613 279
FHfER4TH 365 392 757 344
FEfER5TH 378 379 757 341
AfE/E6TH 463 490 953 470
FER7TH 460 483 943 429
FE{ER8TH 582 693 1,275 591
FAER9TH 455 562 1,017 447
¥ = 81 99 180 82
KE1TH 491 556 1,047 523
*E2TH 138 177 315 155
*XE3TH 238 274 512 240
*E4TH 289 333 622 288
*XE5TH 125 136 261 135
*E6TH 320 364 684 316
KE7TH 351 392 743 387
*E8TH 565 623 1,188 564
EECREE] 133 128 261 118
¥$B1TH 283 289 572 340
#FHEH2TH 444 452 896 395
FESTH 180 215 395 186
#FEH4TH 185 178 363 184
#FES5TH 278 311 589 217
#EA6 T H 330 323 653 323
#HEA7 T B 558 547 1,105 483
BT 10,658 | 11,734 [ 22,392 10,532




AR

EFA |18 981 1,055 | 2,036 869
N 195 221 416 174

Eili 233 252 485 192

- F 1409 1528 2937 1,235

N S 167 180 347 146
TRE 68 74 142 48

TZEE 43 39 82 28

EA 80 86 166 64

Al FL 54 67 121 55

ER 314 332 646 278

Rz 39 42 81 30

SN 1,135 1,361 2496 | 1,205

B 1,900 2,181 4,081 1,854

B = [A# 405 470 875 439
EEN 281 293 574 231

= 262 289 551 274

= 289 337 626 275

= 185 178 363 143

i 137 146 283 127

== 150 175 325 157

A 103 118 221 115

=Xzl 53 64 117 50

Enin 88 105 193 82

- F 1,953 2,175] 4,128] 1,893

E & [Eaf 2153 [ 2401 4554] 1,978
K 2,153 2,401 4554] 1,978

7 ZE | XiF 950 | 1,067 2,017 935
EE3 371 392 763 326

BT 1,321 1,459] 2,780 1,261

RE=ZE | KB 942 1,009 1,951 864
B 942 1,009 1,951 864

M H [FIHHE 1,171 1,203 2464] 1,138
i3 1,171 1,293] 2,464 1,138




AR

ih X BT 44 = =
3 x 5

E &t |E&H 2415] 25941 5009] 2,096
B 2415] 2594] 5009] 2,096

® R |[&EH 2213 | 2460] 4673] 2055
B 2213] 2460] 4673] 2,055
- 651 668 | 1.319 486
SER 164 207 371 151

—AK 256 210 466 232

HE v 232 235 467 203

EE 134 151 285 112

=[] 223 260 483 218
FRamAT 0 0 0 0

K 1,660] 1,731 3,391 1,402

= B [—& 84 157 241 141
LFTEN 93 99 192 80
F=HF 101 104 205 82

TFRED 154 179 333 125

=T 344 348 692 261

= 66 81 147 54

J\ 1% 111 107 218 94

KE 34 37 71 29

B 987] 1,112] 2,099 866
FIRITRES 1.081 | 1,159 | 2,240 934
[if] Bk 148 176 324 147

= 202 205 407 171

T8 96 112 208 86

HF 169 181 350 134

B INFF 59 56 115 45

1258 359 408 767 342

][] 1,193 1262 2455 943

BT 3,307] 3559] 6,866] 2,802
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e L [EIESE 323 335 658 245
e T BT T 663 833 1,496 658
v T ETPE R 740 782 1,522 597
e L BT 42 ] 93 90 183 73
e IETRE S 107 104 211 71
IR S HA 47 46 93 31
e TETRFRE 64 59 123 42
IR RE 39 37 76 29
T IETFRER 51 60 111 40
EIIREE 38 49 87 29
e LET4E 24 25 49 14
T LRI {258 40 49 89 39
€ ;T BT S ] 49 53 102 33
LRI {&EBE 1,767 1,837 3,604 1,589
e T BT P e 266 302 568 243
SESTRT/INE 280 331 611 250

.18 4,591 4992 9583] 3,983
AR -
BEt 5 = it ™
69,933] 76,980] 146,913] 68,046




K FhFEAl A OBER
¥ 34 6A308 |

A A
A 3 % i

0 & 552 536 1088
1 614 590 1204
2 680 559 1239
3 676 614 1290
4 676 614 1290
5 673 674 1347
6 681 651 1332
7 648 672 1320
8 666 660 1326
9 641 667 1308
10 680 642 1322
11 668 672 1340
12 670 643 1313
13 713 664 1377
14 653 650 1303
15 732 689 1421
16 739 700 1439
17 707 666 1373
18 663 704 1367
19 732 645 1377
20 696 673 1369
21 734 691 1425
22 667 671 1338
23 657 621 1278
24 684 698 1382
25 635 619 1254
26 664 723 1387
27 665 700 1365
28 702 726 1428
29 678 693 1371
30 729 710 1439
31 718 736 1454
32 749 691 1440
33 726 807 1533
34 800 755 1555
35 864 814 1678
36 829 802 1631
37 910 917 1827
38 918 857 1775
39 904 937 1841
40 831 957 1788
41 1001 956 1957
42 994 952 1946
43 968 1020 1988
44 1060 1008 2068
45 1061 1076 2137
46 1136 1084 2220
47 1172 1133 2305
48 1138 1196 2334
49 1126 1124 2250
50 1077 1031 2108




51 999 967 1966
52 1011 965 1976
53 879 980 1859
54 851 932 1783
55 801 810 1611
56 886 926 1812
57 776 862 1638
58 829 910 1739
59 808 928 1736
60 782 807 1589
61 827 856 1683
62 902 958 1860
63 853 845 1698
64 836 939 1775
65 894 939 1833
66 881 923 1804
67 893 966 1859
68 898 1079 1977
69 906 1012 1918
70 980 1142 2122
71 1003 1214 2217
72 1107 1305 2412
73 1116 1295 2411
74 1006 1158 2164
75 580 754 1334
76 727 866 1593
77 742 971 1713
78 644 905 1549
79 623 867 1490
80 667 869 1536
81 489 795 1284
82 424 689 1113
83 462 768 1230
84 463 740 1203
85 452 673 1125
86 325 624 949
87 307 611 918
88 282 565 847
89 234 529 763
90 186 485 671
91 167 444 611
92 142 400 542
93 103 318 421
94 65 277 342
95 57 221 278
96 55 175 230
97 22 135 157
98 16 91 107
99 11 64 75
100k LL b 7 136 143
Eil 69,933 76,980 146,913




FXn 5 z &t
15K 9,891 9,508 19,399
15~ 645 42,106 42,467 84,573
65m Lt 17,936 25,005 42,941
&t 69,933 76,980 146,913




